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8R Midterm Extra Review Part I

1) Which set of ordered pairs represents a
function?

a) (4,5), (2.3), (8.1). (4.6)
b) (7.5). (-2,1), (8,5), (4.6)
C) (-2,5), ('2:3). (Bll)t (4,6)
d) (9,2), (8,-3), (9.,1), (7.-6)

2) What is the value of x in the diagram shown?

3) What is the rate of change of line shown in the
accompanying diagram?

4) Which of the following is a rational number?

14
2)V57
7
3) 8
4) 9.7865201938472...

5) Which is the equation for the line that passes
through the points (8,0) and (0,7)?

6) How many solutions does the equation
8x+4= 4{2\. + 1) have?

7) What ordered pair is a solution to the system
of equations shown below?
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8) Find the volume, in cubic inches, of a cone with
a radius of 5 and a height of 10. Round to the
nearest tenth inch.
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9) Evaluate: x” * x * x”7

10) What is 0.000000523 expressed in scientific
notation?

11) Lines A and B are parallel lines. Them <3 is

80°. Find the m< 6.
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12) Solve for x if x* = 216

13) What ordered puair is the solution of the
system shown?

3x+2y=1
5x - 2y = -9

14) The equation of a line is y = -4x - 4. Which
point lies on the line?

1) (-2.,4)
2) (0,4)
3) (-4,4)
4) (-4,0)

15) Solve for x:

483 +4.41x=11.65+x

16) What is the solution to the equation below?
;(5.1' —-10)=28




17) In which interval is the graph linear and
increasing?
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Position { meters)

Time (seconds)

18) If two sides of a right triangle measure 15
inches and 20 inches, what is the length of the
hypotenuse?

19) Find the value of x in the diagram shown

20) Find the value of x if the two triangles below

A are similar.
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21) Which of the following graphs shows a line with a zero slope?
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12) Solve for x if x° = 216
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20) Find the value of x if the two triangles below
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